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@Reasoningbybasantsir

TXEC4A9% RFIU#B@8DIOCQMD32VSES5% *4NE

Four of the following five are alike in a certain way based
on their positions in the above arrangement and so form a
group. Which is the one that does not belong to that
group?

SUAIR SATEAT H YA TATH ok TR W AAfefaa wia A
TR ek AT adieh & 9H § 3R $ATATC Tk {HE 94T 3
FE A T ¢ ST 30 THE W Haifera et 22

1) ke OF"
02. 9RF
03. #@D
04. 3V5
05. IQD



TXEC4A9% RFIU#B@8DIOCQMD32VSES5% *4NE

How many such numbers are there in the above
arrangement, each of which is immediately preceded by a
letter but not immediately followed by a sy mbol"

SUIh STTEAT H UHT feha+1 HEATU g, ﬁmﬁ@r edeh oh 31eh
Ut Ueh 378 & AT o1k d18 IS Udleh Tl 82

01. None

02. One

03. Two

04. Three

05. More than three
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TXEC4A9% RFIU#B@8DIOCQMD32VSES5% *4NE

Which of the following is the fourth to the left of the
twelfth from the left end?

FAefeTiRaa ® & I 97 910 BR W aREd o 918 3R =TT 82

01. A
02. F
03. %
04.3
05.D

@Reasoningbybasantsir



TXEC4A9% RFIU#B@8DIOCQMD32VSES5% *4NE

How many such consonants are there in the above
arrangement, each of which is immediately preceded by a
consonant and immediately followed by a number?

ST ST H U fohd" =5iwiq 2, "o & v & S
Ugel Uch S5 3T 31k dT< Ueh H&EAT 82

01. None

02. One

03. Two

04. Three

05. More than three
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TXEC4A9% RFIU#B@8DIOCQMD32VSES5% *4NE

Which of the following elements is the sixth to the left of
the fifth element to the left of 'V'?
FRfoTRam & & S o1 e V' % TS 3R & Tie ae %
IqTE TR ¥ BT acd &2

01.C
02.9
03.#
04. B
05. None of these
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If all the letters in the word CAILIBARI are
rearranged according to the English alphabetical
order (from left to right) then the positions of how
many letters will be unchanged after the
rearrangement?

afs CAILIBARI 7s3 o G+t 1&gl et it
HUTHTAT $HH o ATAR (JTC H IT0) Tsga o fopar
ATAT 2, ﬁm—éa?mésmﬁmﬁ atert 1 Rearfar
auﬁaﬁa%ﬁ

01. Four

02. Two

03. One

04. Three

05. None of these



In a certain code language, WATER is written as
IVGZD then how will STUDY be written in that
code language?

T (T4a e 99T H WATER 1 IVGZD forar
Grm%a‘r:ﬂ:ra»—a HETH STUDY # fer@T Aro?
01. FGQTB
02. TQTFG
03. FGITQ
04. FLITG
0S. BWFGH
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In a row all are facing north, Riya is 15th from the left
end and Ginni is 11th from the right end. They
interchange their positions, and Manu who sits 24™ from
the left end sits at the Sth place to the left of Riya's new
position. How many persons are there in the row?

qﬁsﬁmﬁwﬁwré;w% faram sr A 159

WW% IR ot

TIMBIR Y 11€r;ar|=ru'{%|éra:m=nwm

FEAd B, aﬁwq@ﬁ F BR Y 249 T W/ A3qT 8, AT H
%nwé;aﬁaﬁiséwméw%mﬁsﬁﬁmﬁ—qﬁs

01.39
02.42
03. 40
04. 55
05. None of these



In a certain code language '"ALPHABET" is written
as 'DIMEDYHQ'. How will '"COCONUT' be

O SBI written in that code language?

T (4d e 9T H 'ALPHABET' &1

'DIMEDYHQ' forar s 81 33 he WIENT H

'COCONUT' &t F& ferea smerm?

01. ZRYRKXQ
02. ZRZPKXQ
03. ZRZRKXQ
04. ZRZRKZQ
05. ZRZRKXZ
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Statements:
All Z are Y
AIlY are X
Only few Z are A

Conclusions:
I. All A can be Z.
I1. All Z can be A.

01. None follows

02. Only II follows

03. Either I or II follows
04. Only I follows

05. Both I and II follow



@Reasoningbybasantsir

Statements:
All Z are Y
AIlY are X
Only few Z are A

Conclusions:

I. Some Z are not X.
I1. All Z are X.

01. None follows

02. Only II follows

03. Either I or II follows
04. Only I follows

05. Both I and II follow



@Reasoningbybasantsir

Statement:

Some pp are qq

All qq are oo

Only few 00 are nn
Conclusion:

I. All qq can be nn.
I1. Some nn can be pp.

01. None follows

02. Only II follows

03. Either I or II follows
04. Only I follows

05. Both I and II follow
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Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D. ’

TS AT A, B, C, D, E F, G 3R H STTT-3TT {1 AT
Gﬂﬁé@%ﬂ%m,m, ITTE, HTFE 3 e o



@Reasoningbybasantsir

Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D.

Which of the following statement is true as per the given
information?

01. D is going to watch movie after F

02. Two persons are watching movie between G and B

03. B is watching the movie in January

04. A is watching the movie in August

05. None is true



@Reasoningbybasantsir

Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D.

If E is related to F and H is related to C then in the same
way D is related to which of the following?

01.H

02. F

03.C

04.B

05. A



@Reasoningbybasantsir

Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D.

The number of persons watching the movie between D
and F is same as between B and

01. E

02. F

03.H

04. A

05. None of these



@Reasoningbybasantsir

Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D.

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following does
not belong to that group?

01.H

02. D

03.C

04.B

05. G
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Eight persons A, B, C, D, E F, G and H are going to watch
movie in different months i.e. January, April, May, June,
July, August, October and December but not necessarily
in the same order. F was going to watch movie in the
month which has 30 days. There are three persons
watching movie between F and C. H watches the movie
just before A, who is watching the movie before B. B
watches the movie just before C. H is watching the movie
in the month which has maximum number of days but not
in January. D is watching the movie in the month which
has 30 days. G is watching the movie after D.

How many persons are watching the movie between B and
D?

01. Five

02. Three

03. Four

04. Two

05. None



@Reasoningbybasantsir

TAP NOT MAT PQR STB

If the given words are arranged in the order as
they appear in a dictionary from right to left,
which of the following will be second from the left
end?

It faU 770 y1ee} Y Ieah Iy § S0 A o0 feEme a3
AT ShH | sk fordT SITg, qy
I T AT B E O SR

01.MAT
02. NOT
03. STB
04. TAP
05. None of these



@Reasoningbybasantsir

TAP NOT MAT PQR STB

If the given words are arranged in the order as
they appear in a dictionary from right to left,
which of the following will be second from the left
end?

It faU 770 y1ee} Y Ieah Iy § S0 A o0 feEme a3
AT ShH | sk fordT SITg, qy
I T AT B E O SR

01.MAT
02. NOT
03. STB
04. TAP
05. None of these
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TAP NOT MAT PQR STB

How many letters are there in the English
alphabetical series between the third letter of the
word which is second from the left end and the
second letter of the word which is third from the

right end?

SiEreft vt & S e & 7w e 36 e sTe
ﬁ?ﬁé@@ﬁ'{ﬁ?ﬁﬁw%aﬁ{am%aﬁaﬁmﬁ
A 7?2

01. 20
02.19
03.18
04.17
05. None of these



@Reasoningbybasantsir

TAP NOT MAT PQR STB

If the positions of the first and the third alphabet
in each of the words given are interchanged, then
how many meaningful word will be formed?

It feu U Ui vTeg W Ugel 3T d 16X Ut oh €=
AT H qGeT 13U SATY, AT Fehel STeiqut 9158 T2

01. Two
02. One
03. Four
04. Three
05. None



@Reasoningbybasantsir

TAP NOT MAT PQR STB

If in each of the given words, every consonant is
changed to its previous letter and every vowel is
changed to its next letter according to the English
alphabetical series, then in how many words, thus

formed, at least one vowel will appear?

Tfe fau 7o g yree W aﬁa%wﬂ%s AR
Tedch ST hl SHh (UDA 38R ¥ g2 faar «e
3R Teieh T shi 3Ueh STTCT 3TeR ¥ Fget foaT 31T,
39 ThR & Toha IT63T W HH | HH Teh TR
JATTIT?

01. None

02. One

03. Two

04. Three

05. None of these
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Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
3T Sk AATT F, J, K, M, N, P, S 3TR V Ueh TR WA
T ot s $1 TR STy T § e S e o e &
3§ AT U IS ST R A hg © TR T IR 7 R aAS
& WET AT X IS SATHAL ohT TG he T TR 2| ST A
for Tt STreRT Et SHH W 81| F HT o 1T WSIT U 8T 21 N,
VEAF TR FSTRI F AR I F AT Aam s 21V, J &
3Tk T BT 21 S 3R N o o= 17 s3fws 98 81 M, S T
Frerecam a=iEt 31 M, J &t Aehean u=iEt T8t @ P 3iet hl 3T

@ B



@Reasoningbybasantsir

Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
How many persons are sitting between F and J when
counting from the left of F?

01. One

02. Two

03. Three

04. Four

0S. More than four



@Reasoningbybasantsir

Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Which of the following statement is true?

01. P sits second to the left of V

02. N is an immediate neighbor of S

03. Two persons sit between P and V

04. M sits opposite to N

0S. J sits opposite to K.



@Reasoningbybasantsir

Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Four of the following five are alike in a certain way and
hence form a group, which of the following does not belong
to the group?

01.S

02. F

03.J

04. K

0S.N



@Reasoningbybasantsir

Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Who among the following is sitting opposite to P?

01.V

02.J

03.F

04. M

0S. None of these



@Reasoningbybasantsir

Eight persons i.e. F, J, K, M, N, P, S and V are sitting
around a square table. Four of them are sitting at the
corners and remaining are sitting at the middle side of the
table. The persons sitting at the corners faces away from
the center and the persons sitting at the middle sides of the
table faces towards the center. All the information is not
necessarily in the same order. F sits at the middle side of the
table. N sits at the immediate left of V. Two persons sit
between F and J. V sits at the immediate right of J. Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Who among the following is sitting second to the left of M?
01.P

02.V

03.J

04. F

0S. None of these
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Point C is 15m in the east of point F. Point A is 10m
west of point B which is 15m north of point H. Point
D is 15m west of point E. Point B is 15m south of
point C. Point E is Sm east of point H. Point G is

15m north of point A.

fag C, fig F o 15/ g # 2. foig A, Toig B % 10+

oS o & fig H % 150 SR 3, f%rq'D g B
159 ufem & &, Toig B, fiig C & 15f sfeor 4 2. g B
suft et % % fofg H & 5 G, foig A % 15 Hiersmd

2l
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Point C is 15m in the east of point F. Point A is 10m
west of point B which is 15m north of point H. Point
D is 15m west of point E. Point B is 15m south of
point C. Point E is Sm east of point H. Point G is
15m north of point A.

In which direction and at what distance is point G
from point C?

01. 10m east
02. 5Sm, east
03. 10m, west

04. Sm, west
05. None of these



@Reasoningbybasantsir

Point C is 15m in the east of point F. Point A is 10m
west of point B which is 15m north of point H. Point
D is 15m west of point E. Point B is 15m south of
point C. Point E is Sm east of point H. Point G is
15m north of point A.

Point D is in which direction with respect to point
A?

01. South

02. North

03. North-East
04. West

05. None of these



@Reasoningbybasantsir

Point C is 15m in the east of point F. Point A is 10m
west of point B which is 15m north of point H. Point
D is 15m west of point E. Point B is 15m south of
point C. Point E is Sm east of point H. Point G is
15m north of point A.

Point F is in which direction with respect to point
E?

01. North-East
02. South-West
03. South-East
04. North-West
05. None of these
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Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

TS ST A, B, C, D, E, F, H 3iR G Uk S H 3 §| 370 H HT &I
w%aﬁaﬁi%mﬁswwwﬁa%%ﬁﬁ% E 3R H Teh gEY
% farofia &3 ¥ ot ferodfta fem bt e s7r@ ¥ C, D%anzﬁaﬁ'{
TR AT W ISTE ﬁ?ﬂﬁ@‘é’rﬁw%m%l C3RES®
Uit § & Uek o1 O g % fadia 21 E 77 D w1 SR T € C
ﬁmnqeﬁﬁ%lDaﬁTF%a%ﬁaﬁaﬁéa—qﬁﬁéaé;ﬁwﬁﬁﬁm
sﬁaﬁu—q'@r%l G, A & T I dIE TUTT W AT T 3R g ohl 3R
n'@rﬁﬁérgq%l B, DﬁGWﬁmﬂ@ﬁqﬁ%I C, G & ferean

T BT R
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Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

Which of the following groups represents the people who are
facing towards the centre?

01. A, F,E,G, H

02. E,A,C, F

03. A,E,B,C

04.E,G,C,D, A

05. None of these



@Reasoningbybasantsir

Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

Who is sitting second to the left of D?

01. C

02. E

03.B

04. F

05. None of these



@Reasoningbybasantsir

Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

Who is sitting to the immediate left of H?

01. C

02.B

03. G

04. A

05. None of these
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Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

What is the position of F with respect to B?

01. Second to the left

02. Second to the right

03. Third to the right

04. Fourth to the left

05. Third to the left
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Eight people A, B, C, D, E, F, H and G are sitting in a circle. Some
of them are facing the centre while some of them are facing
opposite to the centre. E and H sit opposite to each other and faces
the opposite direction. C sits third to the left of D and both are
facing the same direction. One of the neighbours of C and E is
facing opposite to the centre. E is neither an immediate neighbour
of D nor of C. The one sitting exactly between D and F is facing
opposite to centre. G sits third to the right of A and facing the
centre. B is not the immediate neighbour of D and G. C sits
immediate right of G.

How many person sits between A and G?

01. Three

02. Two

03. Four

04. None

05. Cannot be determined
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‘Big Bear Group Danger’ is written as ‘laa sii aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sii aaa’
‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sii aaa’

How will ‘Find’ be written in that code language?
01. jaa

02. gee

03. laa

04. sii

05. None of these



‘Big Bear Group Danger’ is written as ‘laa sii aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sii aaa’

‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sii aaa’

What will be the code for ‘Big’ in that code
language?

01. jaa
02. fuu
03. laa
04. aaa
05. None of these

@Reasoningbybasantsir



‘Big Bear Group Danger’ is written as ‘laa sii aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sii aaa’

‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sii aaa’

‘jaa koo gee’ is stand for

01. Find Big Bear

02. Danger Bear And
03. Group Danger Big
04. Find Danger And
0S. None of these

@Reasoningbybasantsir



‘Big Bear Group Danger’ is written as ‘laa sii aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sii aaa’

‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sii aaa’

What will be the code for ‘Bear’ in that code
language?

01. jaa

02. aaa

03. koo

04. sii

05. None of these

@Reasoningbybasantsir



‘Big Bear Group Danger’ is written as ‘laa sii aaa koo’
‘Danger Bear Find Hunt’ is written as ‘gee jaa sii aaa’

‘Find Group And Danger’ is written as ‘sii jaa fuu koo’
‘Danger Big Bear Find’ is written as ‘laa jaa sii aaa’

What will be the code for ‘Danger’ in that code
language?

01. jaa

02. gee

03. fuu

04. sii

05. None of these

@Reasoningbybasantsir
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above
X. W does not live immediate above Y.

S, T, U, V, W, X, Y 3R Z ATHeh 3173 T {<h Uch { TS dh
TS ST TeRT HRTe o B 3 et Sh TEAT 1§ 3R aad
SR ohY TRTeT Y EEaT 8 & orfeh sl Tt fop et sma A
X Ueh foros E&ar STt §iser W T@aT @ wifeh o et Hivtet uX
T RATE Z, X F SR A @ATg ZARY AT A
3Tferen safeh @A 81 S 3R Y h A og sah @A 81 V, Weh
3Tk FUX AT ©, Atk T o F1 TaT 3l U, X oF HUT T @t
B W, Y & Sieh HuR T e 2l .



@Reasoningbybasantsir

There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above
X. W does not live immediate above Y.

How many persons live between W and X?

01. One

02. Three

03. Five

04. Two

05. None of these
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above
X. W does not live immediate above Y.

Who lives on floor number five?

01.U
02.S
03.Z
04. T
05. None of these
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above
X. W does not live immediate above Y.

Four of the following five are alike in a certain way based
on the given arrangement and thus form a group. Which is
the one that does not belong to that

group?

01.Y
02.V
03. T
04. X
0S. W
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above
X. W does not live immediate above Y.

Who lives immediate above V?

01. Z

02. T

03.Y

04. W

05. None of these
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is number 1 and the top floor is number 8 but not
necessarily in the same order. X lives on an odd numbered
floor but does not live on the 3rd floor. Z lives immediately
below X. More than two person lives between Z and Y.
There are six person living between S and Y. V lives
immediate above W but live below T. U does not live above

X. W does not live immediate above Y.
Who lives on 2nd floor?

01. X
02.S
03.U
04. Z
05. None of these
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Statement:
Z7>W>V=K< LI
Conclusions:

I. W>K
II. I>K

01. Only conclusion I is true.

02. Only conclusion II is true.

03. Either conclusion I or II is true.
04. Neither conclusion I nor II is true.
05. Both conclusions I and II are true.



Statement:

OSBI E=F<G<H;G21

Conclusions:

I.LH>1
ILE>1

01. Only conclusion I is true.

02. Only conclusion II is true.

03. Either conclusion I or II is true.
04. Neither conclusion I nor II is true.
05. Both conclusions I and II are true.
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Statement:
Q>B, K< E<B, J2E, R<Q
Conclusions:

. Q>K
1. Q=E

01. Only conclusion I is true.

02. Only conclusion II is true.

03. Either conclusion I or II is true.
04. Neither conclusion I nor II is true.
05. Both conclusions I and II are true.
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Statement:
Only a few W are M.
All P are M.

Conclusions:
I. All W can never be P.
II. At least Some P are W.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow.
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Statement:
Only a few B are L.
No B is S.

Conclusions:
I. Some S are definitely not L.
I1. All L can never be S.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow.
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Statement:

Only a few W are C
Some B are W

No D is C.

Conclusions:
I. At least some W are D.
I1. All C being B is a possibility.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow.
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Statement:

Some P are S

Only a few S are N.
No N is a P.

Conclusions:
I. All N being S is a possibility.
II. Some S are not P.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow.
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.

B SAMh Uch &1 I ok 1 STCTT-STET {1 ITHT /e, 3T0eT
3T 7E hT 3T ACT-HAAT ARIET AT 7 IR 16 AHE Sl B
STEATT-3TENT ITENT | AT I B B 3T T& U F7dT & R &4y hr
T fom Bl & o form wea aeft a2t 71 B 3R
Ul AT STeA Sa(<h o itel g1 A Txh STd 5l TRIOMHT ST AT
<k o ITS ShaleT S STk ST 3l A forew dweam et arfa
! f3oet TTAT 81 A 3R F & Ste hael Ush SR ST 2

= & F & ugel AT &, 3a4 € 0T C o 91 AT @1 D 3R
E o St g1 ¥ AT A ATd &, A1 $aR 1T gl F =18 T8
ST §1 AR § & Teh STAYR ST 2
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Who among the following goes on 16th March?

(a) The one who goes to Jaipur

(b) A

(¢c) F

(d) The one who goes to Pune

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
The one who goes on 7th May, goes to which city?

(a) Jaipur

(b) Chennai

(¢) Indore

(d) Pune

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Which of the following statement is not true about E?

(a) B goes just before E

(b) E goes to Pune

(¢) Only two persons go between E and F

(d) More than one person goes between E and D

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Which of the combination is true?

(a) D-7th March

(b) B- Jaipur

(¢) C-16th April

(d) D- Varanasi

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Who among the following person goes to Varanasi?

(a)D

(b) C

(¢c) F

(dB

(e) None of these



ROJ*I9Q8A@M5%PU2AD7F8%43ZEK1IWNG#VY

Which of the following is the fourth to the left
of the sixth to the left of W in the above
arrangement?

SURIRE STIEYT H AHAfeTRad § & Shid W o aTd
U TS & 10§ TTAT 22

01.U
02. D
03. E
04.7
05.9

@Reasoningbybasantsir
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ROJ*I9Q8A@M5%PU2AD7F8%43ZEK1IWNG#VY

How many such consonants are there in the

above arrangement each of which immediately

followed by a symbol but not immediately

preceded by a number?

SUXIh SISEUT H VY fohdd 814  NTHH § I<h
o

01. None

02. One

03. Two

04. Three

05. More than three
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ROJ*I9Q8A@M5%PU2AD7F8%43ZEK1IWNG#VY

How many such symbols are there in the above
arrangement each of which is immediately
preceded by a letter and immediately followed
by a number?

ToRIh ST § 0 fney weften § fr & v
o 3ok UZe! Uk 378X 3T Steh o1 Ueh H&EAT 22

01. None

02. One

03. Two

04. Three

05. More than three



ROJ*I9Q8A@M5%PU2AD7F8%43ZEK1IWNG#VY

Which of the following is the ninth to the right
of the seventeenth from the right end in the
above arrangement?

IUR STEAT H AeferRad § 9 &9 97 2= B3R
U T2 & S 9 A 2?

01.N
02. $
03. 4
04. W
05. K

@Reasoningbybasantsir
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Six members of a family E, K, O, F, D and W
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
Teh UNAR Sk B2 E, K, O, F, D 3Tk W Uk
IO Heiferd B E, K T T & <1t D
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Six members of a family E, K, O, F, D and W
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
How many females are there in the family?
01. One

02. Two

03. Three

04. Four

05. Cannot be determined
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Six members of a family E, K, O, F, D and W
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
If Q is married to K then how is Q related to
O?

01. Daughter

02. Sister

03. Mother

04. Niece

05. Daughter-in-law
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Six members of a family E, K, O, F, D and W
are related to each other. E is the father of K

who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
How is F related to D?

01. Granddaughter

02. Sister

03. Mother

04. Niece

05. Daughter
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